YRER 2 B

AR OTURYTIFEE
()7 )L TEEPERsRATEE R R BIRA B AR L o AR R > A A .
ERFEGRP LRGN o e T RED T -

REBET A 2 AL R T

Zyops =1.96 » 7, =1.645

4

- BB AL TR AR I A NG 1,2,3,4,50 2 s 19
T H g iz - 3 B2 B IR o
o . - X, +X
&Xﬁa%l@ﬁi%ﬁblzLZ’X:—%;io
OF Xz 34 pe - (10 &)
Oz X L3 53+ WMT BByt fhE3t50 o (54)
@ Xehg P * WY P o’ 2 Wenhf - (10 &)

TfRE A TR AR ACERRRETIAAVTE o WARE
£ 100 Brrs > p 100 Brred g 5 Brrs o L d 125 BT
B MR A d oA hEEAF B () FIe
s 7} .

FTaE A L RHEFLE YNy, f_ZEMﬁEY

\“"_ E1IS

=

Ris

M, m; ' m; ' m. -1
50 5 29 15
/8 8 15 9
62 6 20 22
71 I 35 20
39 4 45 18

O RSP E S22 (54)

O fei-* 2F 2 5 3 henTiogr1 wfe > & K52 O5%F £ 7 'L -
(10 # )

EFc o AAFEL R A Hs 5880 4 o FRHE RFAE R YT is
F1pd 38 H 9B5%EIE R 2 (10 4)



kg 1 31450
ko122

ST AROBE ST BEREBEE Y TR S il g 0 et Bk
$BA 205 = fI* BA & fw—:r'rﬁ?%a B 10 B 1 ek s s 0
AE22lmMEE D pd g (y;,0=1,...,21) e
(%4210~ > £ 20 »)

2030, 1720, 1850, 2210, 2150, 2370, 2000, 1930, 1570, 1910, 2380, 2540,

1720, 1900, 2200, 2100, 1860, 1800, 2050, 2420, 2090

ORI ALEEE F mlf;:‘&i%"v P ﬁ_,gﬁbliatii‘}?’?f 11 95%
[

O * i 4§ h % # (successive differences) - di=ly,,, -y;|(i=1, ..., 21) > &
U ABBRE D hTHLE o R e PEEW“#*&(—) (_)fér5 fa
F&%$&~¢m$r§ ERANGE - N PE S A

w\ﬂgﬁﬁﬁpfgﬁﬁE%GS%ujﬁ%ﬁAr%mom$%ﬂwﬁ
:t@%ﬁ ﬁjln\i 80 B ®ekt P P80 BREY » UHHEGHMIRE
NEBRF OAAFBRBOENAHE EHL 65K hEE LT Ko
l«?’%ﬁ o™ (& 4104 > £ 30 4 )

¥ B 1 2 3 4 5 6

B B A i 85 37 49 50 34 45

65 fk b ek E A v e 15 8 12 11 8 12

(it 37 Ed 65 k1L b ek E A T LG > ¥ 2R E Ll i en 950038
AR

D2+ 7 137 F8 65 A b ek & A v ey ¥ RE P R Heh 95% 1
ﬁ'ﬁ?\:ﬁ'ﬁ °

EREGE FFe R > FaoT 37 B RHE 4250 4 0 B B FREE
),LFY B E# 65 }%cu F e & K sk e Tl RO L)\gﬁf@l"‘)‘l‘
"v/é'-?rs—- %ﬁﬁ{ig o



